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1. Complete the workings out 119=7—
o7 xX10=...... 1S £00 tovvieiiiei,
o7 x20=...... iS 600 oo 7T X 1 0 =
x| 2345|6789 7 X =
7 [ 14|21 |28 |35 |42 |49 | 56 | 63 7 X 1 =
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2. Complete the workings out 78 L3~
e3x20=..... 1S £00 tovvieiiiei,
e3x30=..... iS 600 oo 3 X 2 0 =
x| 2]13[4[5/6[7]8]9 3 X =
3 16| 9]12]15|18|21|24]27 3 X 2 =

OO0 given =+ sign (6) SRS Learning Limited
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3. Complete the workings out 999 = 6 —
e (6 x30=..... 1S £00 tovvieiiiei,
06 x40 = ... iS 600 oo 6 X 3 0 =
x| 2]13[4[5/6[7]8]9 6 X =
6 | 12|18 |24 |30 |36 |42 48|54 6 X 3 =

OO0 given =+ sign (6) SRS Learning Limited
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4. Complete the workings out 1337 —
o7 xX10=...... 1S £00 tovvieiiiei,
o7 x20=...... iS 600 oo 7T X 1 0 =
x| 2345|6789 7 X =
7 [ 14|21 |28 |35 |42 |49 | 56 | 63 7 X 1 =

OO0 given =+ sign (6) SRS Learning Limited
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Answers

1. 16 and workings:
70 + small
140 + big
7 x10="70
7T X6 =42

2. 26 and workings:
60 + small
90 + big
3 x 20 =60
3 x6=18

3. 37 and workings:
180 + small
240 + big
6 x 30 = 180
6 x 7 =42

4. 19 and workings:
70 + small
140 + big
7x10=170
7x9=063
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